#(x+3)-%(x-3)

dx

1
Evaluate the integral: l=[
0

Wehavcl‘(%+x) (-z— )-—F( (
r(z+0)rz-x)=(3+ )( +x)
G r)r(3-0)= b+

e 0r-)

lnl‘(%

——x

(_ i xz) [cosmx)]
x,) In )

"Gon) oz

X

3+2))r(1+(3-))
(

%— x) (—- - x) then we get:

(-2 G+

- - X )n sec(mx), apply In to both sides, we get:
Inm + Insec(mx), derive both sides w.r.t x, we get:

n sec(mx) tan(mx)

e (oY) 3w

4 2
WehaveInT(x) +InT(1 —=x) =Ilnm—In sm(nx

tl’(-:i+x)—‘l’(-:i—x)—utan(mt)—

; then we get:

e.CO LK

éoth sides w.r.t x, we get:

sec(mx)

M) r'a-x cos(n r'(
) Tr(1-x \N;%% T x),zﬁ —n cot(mx)
?&9\‘/ *) and ‘,é'a,‘cgév(l x);s0 ¥ (x) — ¥(1 — x) = —mcot(nx)

So replacing x by x — 5 we get:

'P(x—-;-)—'{’(l (x-%))='1’(x—-21-)-ll’(%—x) =—ncot(n(x—%)); then

n sin(mrx)

Sin

GRS

R 2,) ~ Zhcos(nx)

1
then we get: ll’(x - )

Therefore ; we get: lIJ(x

-2)- ¥+

l—fl - 4 4[ 2 _dr=4
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0 0

=4

J (2x+1)(2x 1)
2x—1

l=2[ln

3

—m tan(mx) ...(2)

v (— - x) = mtan(mx) ...(2); subtract (1) & (2) we get:

(x—-)— ( x) \f( +x)+‘l’<——x)—ntan(nx)—ntan(mr)+

X
- 4x°

) 8x \p( +3) q’( 1)_ 8x
Lkl L Nl a7

2x +1—-2x+1
(2x +1)(2x—-1)

dx;then

1

1
(2x+1) 2x-1) 1 1 2 2
dx 4[(22{-1_2x+1)dx_2[(2x-1—2x+1)dx
0

1
=2|n-—21n1=ln
0

0
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